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WIRFOR, n o MRS

¥ E K b H T
KW & e o
Rl 44| LERFIRTHAOGE | 2. PRODRMNOE | 3. )IIINTIIOE | A BREEFETR | BOAR - JRVETR | 6. YR
RICEHA B | Bf2.6.16 | HF12.6.16 | 5F2.6.16 | SF2.6.16 | HF12.6.16 | 5F12.6.16
PEM | n | WEME | n | WEME | n | WEM | n | WEME | n | WEE | n
& ok =E
oy | 48T |1 59.8 | 1 40.6 | 1| 43.4 | 1 43.5 | 1 45.2 | 1
(0]
2O
"R ﬁzﬁ 7.8 1 9.4 1 5.4 1| 6.6 1 6.9 1 7.2 1
(0]
p H| 7.5 1 7.5 1 7.6 1| 7.6 1 7.6 1 7.6 1
¢ (fn) . /kg 11000 | 1 8500 | 1 6900 | 1| 3200 | 1 6900 | 1 9300 | 1
iy
. gfg /kf; 540 1 660 1 210 1| 230 1 130 1 100 1
/B VAN
" (m;kg> 0.55 | 1 0.57 | 1 0.23 | 1] 0.16 | 1 0.12 | 1 0.14 | 1
7\
i?g/kg) 49 1 38 1 22 1 22 1 21 1 24 1
2
7 (t;g Jkg) 43 1 50 1 29 1 38 1 59 1 40 1
it S
(ng/kg) | 7P 1 7.5 1 5.4 1| 5.5 1 5.1 1 5.7 1
LS N i
(ng/kg) | 11 1 0.22 | 1 0.12 [ 1] 0.12 | 1 0.09 | 1 0.08 |1




HJERR, no: B

HETIK LT
KO 4 T
o 4 7. REFA 8. FLHEIE M
BHEEH B AFn2.11. 19 AFn3.2.12 AFn2.11. 19 AFn3.2.12
HEfE n HIEE n HEfE HIEE n
E 7k((yj; 93.5 | 3.7 ] 50. 2 93.8 |
B B
%Y’?Z/i 1.3 1 3.7 1 5.2 L5 1
p H 7.7 1 8.2 1 7.7 8.2 1
= (m;) /k?) 1300 1 7800 1 6800 1600 1
vy
fi (r:gt/ki? 4! 1 950 1 130 1.8 1
(R P AR
AR R, n o BAE
¥ LK % JiE T
KO 4 % B HEH
oo & | 14, ETHERN 15. IEFHkph 16. ZEHEEN 1 7. MR
BIEH A SFN2.6.8 SFN2.6.8 SFn2.6.8 SFn2.6.8
HIEAE n HIEAE n I EAE HIEAE n
= ((;g /k?) 5900 1 8400 1 12000 3300 1
iy
it ggg /kZJ 100 1 140 1 360 64 1
N AN
i (ng /kg 200 1 240 1 180 71 1




HJERR, no: B

¥ FE K I B
/S A 2 Y7 H ot Jufa e W HHE
oA 4 1.8. FDJM 19. WEFnRTHSG 2 0. Wk
BHHE H H A0 2. 6. 23 A0 2. 6. 23 A0 2. 6. 23
HIEAE n HIEAE n HIEAE n
sk (0/}4; 39,4 1 61.6 1
%}L \‘u‘ =N
R ﬁ(ﬁ 2.7 1 7.2 1 7.9 1
= C(?ng /k?) 4000 1 10000 1
vy
fi ﬁg /kZ} 91 1 270 1
/B R AN
(na/ka) 0.5 1 1.0 1
i 16 1 34 1
(mg/kg)
7 g I
(ng/ka) 12 1 31 1
fitk =
(ng/ke) 1.3 1 3.1 1
e 7(J;g/$§ 0. 04 ] 0.11 ] 1.6 ]
T IV Lk 4R
(ng/ka) <0. 01 1
P ((:mg/kgB) <0. 01 1 <0. 01 1




WRFOR, n o MRS

HO¥E E K =it
Ko 4 s
HoooE 4| 2 1. ML 2 2. WXF 2 3. AHiph
BEAEH H ASFn2.7.21 A5 2.7.21 A5 2.7.21
HIEfE n HIE HIEfE
A S
(%) 49.9 1 40.0 22.7
J K I U A
(me/ k) 0.2 1 0.2 <0. 1
> 7 v
(ng/k) <1 1 <1 <1
s 5.8
(ng/kg) 19 1 11 .
A /2R =2NA
{1/ k) <5 1 <5 <5
fitk e
(mg/kg) 2 ! 2 !
b
(ne/ke) 0.08 1 0.03 <0.01
T KR €0. 01 1 €0. 01 €0. 01
(mg/kg)
P C B
(me/ k) <0.01 1 <0.01 <0.01




Joz e U I
HRER, n iR

H ¥ E K BlEFEh
Kook A4 BTt
bc (LR < W 2 4. AWM
B E A H H AFN2.9.17
I E fE

p H 8.0
C O D

(mg/kg) 0.1
BRI UL

(mg/ke) <0.01

&

(mg/kg) 3.7
4 = N

(mg/kg) 6.8
fitk e

(mg/kg) 4.9
woook dR <0. 02

(mg/kg)




